Precalcdusy Unit 4

Notes—Solving Exponential and Logarithwmic Eqn

i ONE-TO-ONE PROPERTIES:

Ifb*=5b" thenu=v
Ex) 7*= 7% thenx =4

For any exponential function f(x) = 5"

For any logarithmic function f(x) = logsx
If logsv=Ilogsu,thenu=v

Ex) log 12 = log(x), then x = 12

Makes sense right? Be sure to notice though, that the BASES must MATCH to use this property.

Ex1) Solve: 4% =8*"!
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When it is not “convenient” to write each side with the same base you can simply
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Solve each logarithmic equation:
Ex6) logs(3x+1)=2
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You should ALWAYS check your answers when solving equations. This becomes even more importan
when dealing with log equations since they have restricted domains.

Ex8) log (5x) +log (x—1)=2 Ex9) In(3x—2)+in(x-1)=21Inx

59 Loxtin | = 2

'D/.: 5)(2”“5:)(' |
- Ex > G¥ 160
s 5(x~>< -40)
0= 505 )
x-5=0 x+4=0
[x=5] x=<Y4

€K ﬁtmt@\AS

Ex10) Zog4(3x -8)=3
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Ex11)  In(5x—1)=In(x +2) + In2

In(5%-1) = In [Z(xﬂﬂ
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